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31-44. See Additional Answers,
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no real solutions
no real solutions
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—-47 imaginary
109 real, irrational

49 real, rational
0 real, rational
81 real, rational
24 real, irrational
1 real, rational

=3  imaginary

0 real, rational

—4  imaginary
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[ =X+ %= =4«
€ — Xy + - =(
6+ X9 + X =4«
T+¥—xg=A4
S+xp + x— =4
8§ — ¥+ x=4
E+xp + x=A(
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C -+ x=4
SH+XT+ x=4
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0=01 + X9 + ;X
0=1T+%+ %
0=¢+% — x
0=1+%9 + ;%
0=¢€— XL+ X

X =7 — X7 — XT

€+ % =C+18— Xp

= 9T + X0I — X
0 = §T + X0E + %6
0 = XGT — ¢

0=70+ XL + .X€

0¢ 0=V —Xp + X—
8T 0=7— XC + X¢—
9 0 =L+ %1 + X01
N9 0 = ST + XCI — XC
@ =9 + X0 — X¢
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XC=T+ X7 — X

X — X =7 — XT + XT
0=¢€1 +XT + ¥
0=6+ XTIl — X¥

= X[ — ,X¢

0=C — X6 + ,XC
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